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Atoms are electrically neutral because they have the same number of protons and electrons. The protons are positively
charged and the electrons are negatively charged.

An ion is an atom or group of bonded atoms with a positive or negative charge. Atoms can lose or gain electrons to
become ions.

The only electrons that atoms can be lost or gained are the valence electrons. Valence electrons are the electrons in the

outer energy level. The main reason that atoms become ions is so they can be more stable. In many cases, ions are
more stable than atoms. To understand ions, we first must understand valence electrons and the octet rule. The octet
rule simply states that atoms want to have 8 electrons in their outer energy (or valence) level. To fulfill the octet rule,
atoms will either 1) gain electrons so they have 8, or 2) lose electrons, so they have a full octet underneath.

The number of valence electrons is a group (or family) trend on the PT.
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Use the location on the PT to determine the number of valence electrons for the following elements.
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Use the location on the periodic table to draw Lewis Dot Diagrams to represent the valence electrons in the following
elements.
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The number of valence electrons is directly tied to the charge an ion will have. Knowing the valence electrons allows
you to know the charge of any ion if you understand that atoms try to follow the octet rule. An atom with 3 or fewer VE
will lose those electrons (become +) and have a full shell beneath. Atoms with 5 or more VE will gain electrons (become
more -) to get a full octet. The exception to this is hydrogen and helium because they only need 2 VS to have full valence
electrons. Atoms that have 4 VE can either gain 4 electrons or lost 4 electrons to have a full shell. Complete the
following chart:
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Hopefully you recognize that the charges of ions are related to location of an element on the periodic table and can be

determined by the number of valence electrons.

+1

+2

Ionic Charges

Variable Charges

G

+3

‘1.4

Use the location on the PT to determine the charge following elements and write the symbol with the charge. (X™)
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